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PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

If the two forces P and Q@ Acton a particle in the
same direction, what is the resultant.

P opmgb .Q eetp @Qmelamsser @m Samrol
Qurmefled @Cr Hanguier Gew’Lméd Hemeusartien
eenerey eflens eratran?

State polygon law of forces.
ellenssafian LewCara edflenw Q@.@m.
Define cquple.

SLpEdlenemT GUEnFUIM).

Write the bomommmwﬁ and sufficient condition for a
system of coplanar forces to keep a rigid body in
equilibrium.

2m SamolCurmeer @Gy sersdler GewduED
depsgaflen Qam@ly o Hooule @ausdméss
Goaveuwmar  wLHMID  Sfeuflworar  SLEUUT L

Tese b -

(SIS

What is equation of the parabolic catenary?
srdlelwsdler Lpeuamarit SienLILE seTun() eTemen?
| - PART B — (5 x 5 = 25 marks)
?Sms_\ow any FIVE questions.
State and prove S..wamrw Hms_\ of forces.
eflengaaflen 1p&Camanr eldeni erpd Fimieys.

ABC is a triangle and G is the centroid. ‘O’ is any
point with in the triangle. Show that the resultant

of the forces represented by O}Ow and OC is
30G .

‘G aemugi ABC eramp wéGaremgdan p@wb. ‘O
aenig psCGameamsigner oetar gCeaid @@ Ldraf

. arefles OA,OB,0C arenp eflanssafian eQenare, eflans

30G erém Flmieys.

Show that if three forces keep a particle in
equilibrium then the forces are coplanar. -

gpamm - ellevssat @@ glseer - swhlaoude
UGS BHSTD SieneuseT @ SeTellensser erar Himieys.
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11.
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17.

Define moment of a force.

ellengullen .%@Dr_m%e% auEFI).

Two forces F, and F, Act at a point A. ‘P’ is a

moving point such gm_u the moments of 3 and Ww

about P are equal. Find the locus of P.

F F denaser >

R F
Geweu@Samer: P eremp @ pamb Lera W LHIILD

GTEITD eramm  yemafluled

F, - én Hmiysgpeanser P emw Qunmse solbd ﬂa%@

P-e cuanyenwis smanTs.
Define friction.

2 Fmle GuenTUig).

. State kinetic laws of friction.

2 rmiedler @uiss el udlenan TYGS.

. Define centre of gravity.

HeSIriUiL epLowILD GuapFwImy.
Where will be the centre of gravity of triangular
lamina?

Wp&Carants @&Fﬁ.aﬁ yellFriy  enowild  eThG

S|enLLLd?

Write the tension at the Hoémme one of the
common catenary.

QAurgie  smddugder  Wessmpps  ydrafden
Bellensenu era1s.
2 72008/SAM4B/

TAB4B

P and Q are two unlike parallel forces when P is
doubled if is found that the line of action of Q is
midway between the lines of actionl of P and the
new resultant find P: Q.

P, Q eramusmey @99:“@8&3&@@@&% P-aos @i
wLmsrsSamd Q e Qeudu@b sréss GCan@, P
Qewueu@b m:m&w Cemrlgh@bd ydu ety
dlmssgn  o@vuiugHule odmerg. P:Q-uler
HLIMLE STaTs.

A rod is in limiting equilibrium resting horizontall
with its ends on two inclined planes which are at

. right angles and one of which makes an angle

QAA..Amov with the horizontal. If the coefficient of

friction 15 the -same .for both ends show that

_l-tana
Ay

QamI&CsTeTn AEIIGEE N Q6T
%g_l_b_.,l_lmw_rmi. QAA. »w,v Caramrsens &BE@W@&
@ram(® smi orhisaian God @ Ganadlar @rair(d

(pevans@Epd Sl Lions guie| Hlaauled eadamed

mE&%@é% eaargl. Gameller @ram® paeeEsD

1-tana v
o gl Q OLD Qm%@ = .
e gmueys Caup & 7 T eram Hliey s
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Find the centre of gravity of a uniform solid
hemisphere. _

Egren Samw ienysCaransden Lol iy @OWLGDES
STETTS.

Obtain the intrinsic equation of the common
catenary.

QE_@_W srdlallwgslem 2 erafluichiy ST oL S(metl.
PART C — (3 x 10 = 30 marks) _
Answer any THREE questions.

émwmgm W,W,W are attached to the vmwbem w., C,D
respectively of a light sting AE where B;C,D

divide the string into 4 equal lengths. If the string

hangs in the form of 4 consecutive sides of a
regular octagon with the ends A and E attached to

the points on the same level show that

W= T\M;w HV,S

AE crémp Gudediu sb@mwu Breng swwTskseTTs
Qfls@go B,C,D ereénp L.%Qm.&g% weaopCu W,W,W
ey  eTenLsaT @eartsalLl erarg  sLular A
wpgd B gpearsmer @Gy i sHé 2 drar @ream()
Lereflsafler Qevamrasiul () @ QG aransassen
BrenE ADSE0S5H USRS  elgedld @@H@:@
W= T\I._.HVE QQ%B_Em
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A mﬁ.:pm of Hobmﬁp ‘21’ hangs over two small

smooth Ummm in the same horizontal level. Show
that if A is the sag in the middle, the length of

either vmu_w of the string that hangs <owﬁom=< in
h+1- ;\NI:I

21 gembd Qe &im @émy CrIGSM g ne_ms_b.a@
Aflw sLfsellar efiCu Qgraisel L’ Herarg A
ereLig) sWilhdler enowgder Qgmiiey erarileh Q@ UppLD
QW:E&%FEEF@%QQ BersHen jerey ~_\+N )\mwl
25 POEGD eran Hlmiays.
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State and prove varignon’s.
aurflsafler GCepngeams eripd Hmeys.

A loader of length ! rests on a rough horizontal
ground with its upper énd projecting slightly over

-a smooth horizontal rod at a height 2 above the
ground. If the ladder is about to slip. Show that

the coefficient of friction is equal to \‘lﬁwm”,wlwn !
N ~BrLr feraperw @@ aremiiulen Epapener Qm
Qm:qgmnqbcqmﬂ gy Cugid HAPTE Wpever sarES
h ewrsdlgerar gm aipaipiurer sflfer Guoe
smupgl Sy QeueliCu Blins QararGulmadns.
gall aomaE swfloould EmE@Lreamd  oiser
hNI? - h?

o gmiieys Qs i

erar Flmeys.

Find the centre of gravity of solid cone of uniform
density. .

Emmen LiHerws Qamam_ @m SHawmos smiber
HeFTLIL epoWILD STeRTs.
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